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&Ted jemey : 2.30 waenfl Gy ] [ Qrgs wHubuamser : 70
Time Allowed : 2.30 Hours | [Maximum Marks : 70

Sdlejemraet : (1) Sarsg edlarmss@pd slwrs ueurd o dreTsT eremLISaman
sflurrggls Camerere]b. &FsliLSledller Gapuil@mulber amms
sasrentiiurerilb o | arquirgsd Csfelssean.

2) Beowd g smLY ewulaer L HGW erpgieusnEGL LLLIHSS
Geuar(Hd. LILBISET cuepTeusH@GLD, igHCamg(hHeusn@n Cuersle
LweTU (HSS6LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - I/PART -1
@y : () SewesIsg HaTssErsEh el wefldsa]L. 15x1=15
i) Osrhssiiul(erer wrIHMH elNedLsaled Wseyd LW
denLenws Casbos(Hs55 GHNUELHLar alenulemaryd Cargg
CT(PSaLD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. s GLransaller Ll Qg dsfliig :

(1) Gee LELY (<=,) LrOUTH ADLSHE
(@) Qe BLHwenLged (r) safl 2 (Heurésbd
The function of Cytokinin is to increase :

(a) cell division (b) differentiation

(c) cell elongation (d)  fruit initiation

emeumd eThg STramsdleante (PIHihs FLMMLE GLTU FamiSHeTTe) 2 ETenaL
sLSgleudled FHUL @uieailcvene :

(=) giemerser GCaGeomenmed jenl_&&LIL[HeUSTED

(=) glemersser Gaplll CleaIGamevmed L &&HLILI(HeUST6D

(@) simerser el Carbaavsermd el &&lU[HeUSTD

(FF) glemerser GFa@IGameumed enL &&LliLI(Helsre

Conduction of food materials does not take place in mature sieve elements because :

(a) Pores are blocked by callose
(b) Pores are blocked by hemi-cellulose
(c) Pores are blocked by tyloses
(

d) Pores are blocked by celluloses

ComiL oL menfl STeurs S e CEILIMCETE &mawt U (h D

&CrrCurGarbgailen eramanEams :

(=4) 7 (=) 12 (@) 5 () 23
Number of chromosome found in gametes of garden pea plant :
(@ 7 b)) 12 (9 5 (d) 23

Luirs sreurmisGerr(h Carbgl euerHd Coameuwinm ClFigsamer &S 6Tgeamen
LweTL(hSGHeumut ?

(=1) GA (<=1,) NAA (@) IAA (rF) 2,4-D
What will you use to eradicate the unnecessary plants which grow with crops ?
(@) GA (b) NAA () IAA (d) 2,4-D
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5. yYGpmenevern eremm fSlGerm jllevsdm@ CCA, CCC, CCU wmmitd
Gremenlld Bre@ FhGEHSmIGET 2 6TeTen.
(<1) CCG (<) UGA (@) UAA () AAG

Proline has four codons CCA, CCC, CCU and
(a) CCG (b) UGA (c) UAA (d) AAG

6. S ovdCarmblafl <y evllrm e :

(=) Qe Bl smeurid (<) O15Gsm eI
(Q) eupe Flavg sreuyid () Bifd greuyd
Aeschynomene aspera is a :

(a) Mesophyte (b) Lithophyte

(c) Xerophyte (d) Hydrophyte

7. walger o L Csrerer 555 eneul L Oler GeMBg wrsdanrser @) edlmbgl
swurfssliuGdng ?

(<) smermen (<=),) QuenL(medl e
(8) mrevL_ms (FF) FreLL
Enriched vitamin tablets are produced from the following organism for human
consumption :
(a) Mushroom (b) Spirulina
(c) Nostoc (d) Yeast

8. Gaeurggneser Olmpg Coremmidlarmer.
(1) ewantiCurGlLruslen (<) Quflengsdler
(@) werrsCamiermevl(Haer () =A&5CHmed
The root hairs originates from :
(a) Hypodermis (b)  Pericycle
(c) Trichoblasts (d) Endodermis
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9. srarsdler Smansg 2 mniliselad Curgeurs srerlupHb S

10.

11.

12.

(1) CarevemensLom (=) evdlaflFenensiom
(@) urreresOT () GCarmrenensiom
The tissue generally present in all organs of plant is :

(a) Collenchyma (b)  Sclerenchyma
(c) Parenchyma (d) Chlorenchyma

eUGUT-le s ecranrblenty Suimilés LweTUHD Srerhd :

(=) M&aren sHbweflov (<) WemHSen |OmFe

(@) aLGrrur @raren () glCrrur sredliid .Guimaduim
Bio-diesel is extracted from :

(a) Riccinus communis (b) Phyllanthus amarus

(c) Jatropha curcas (d) Jatropha gossypifolia

uflGersenar euensUTLiquie) eremn ClFTHEMmeT 2 (hHeumssluweurr

(1) sCrmeven edlemGemiion (=),) ermiemi wHmID GFmerL_c

(@) Gswbl wHmb Heed () gy QubsLd WHMID anO&sT
Who coined the term biosystematics ?

(a) Carolus Linnaeus (b) Engler and Prantl

(c) Camp and Gily (d) George Bentham and Hooker

4T 6600 oLICT eV (EHES) T(HSSHISSTL(H
(<=1) adlevigigen garrursalCasy () G-3-P igenant remGeren

(@) wrreren LslGeren (FF) evumells smrurgedCeen
An example for transferase is :

(a) Histidine decarboxylase (b) G-3-P dehydrogenase

(c) Transaminase (d) Pyruvic carboxylase
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13. @psluredler sriLflennd smeod <2, T(HSET.
(1) 20 (<=4) 10 (&) 17 () 5
Duration of patent in India is years.
(@) 20 () 10 () 17 (d 5
14. e LomCrrenw @GarliL(BhiSSHID ClLUmBLGeT 2 6rere.
(=) umeving (<) wrrlGeomsl e
(@) eflemam Grméwim (rF)  QCr&eo
possesses anticancerous properties.
(a) Basmati (b) Marmelosin
(c) Vinca rosea (d) Brazzein

15. gaflEGsrsamgsamw WES SnbuL s gram@hb eefl e :

(1) 400 nm - 700 nm (<) 700 nm - 900 nm

(@) 100 nm - 200 nm (FF) 200 nm - 300 nm

Which of the following wavelengths of light is most effective for photosynthesis ?
(a) 400 nm to 700 nm (b) 700 nm to 900 nm

(c) 100 nm to 200 nm (d) 200 nm to 300 nm

L@&3| - II /| PART - II
sTeneLGIE|D LM clleaTéaEné@ L (HID ellenL wefléseib. eflerT ereim 24 -8
&H6wTlq LILING aflenL_weflédsab. 6x2=12
Answer any six of the following. Question Number 24 is compulsory.
16. <oM&CasHuller euamasiLm (h Hlevawenul er(pgis.

Write the systematic position of Arecaceae.

17.  @prUuf S@HD STeUrhigSeT @ramg.er @\ CFmmauwey 6T(ps)s.
Write the binomial of two rubber yielding plants.

18. 2.u4fl sriyfenwuler @@ WSS W SbFRIGET Wreneu ?
What are the two unique facets of Bio-Patency ?

19. wrY euMIULGS6T LILIGTSET WTenel ?

What are the uses of gene mapping ?
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20.

21.

22.

23.

24.

25.

26.

27.

28.

LIgUITSSLD - eUenFuwimi.

Define transcription.

sl DNA -anel 2 (Heurd@eudled mHuBb Cbrdleer wrene ?
Name the enzymes involved in making hybrid DNA.

paflFCarsamauien ol (HOrss ellenaruiler FOGTLTL ML 6T(LPSIS.
Write the overall equation of photosynthesis.

@aflFsFeuTssSNELL, @ MLFarssdn@n Qe GCu sramiuimn Ceumiimbhser
gCaeId @) TeTiqenaT 6T (LGS,

Write any two differences between photorespiration and dark respiration.

&G HHalll(mpgl Hlawss Hamal CoumLi(hss)s.

Differentiate meristematic tissue from permanent tissue.

@& - I /PART - III
sTemauCuend g mi elarmésEnd@ WG e welldsea|b. ellearm eremr
33 -&@ sLLmuwns alenlwefl&Ese]. 6x3=18

Answer any six of the following. Question Number 33 is compulsory.

QuUBHD OHMLD aNOEST euaSUTL g6 HlanmaeT FGCHEID ppETMIene 6T(LS)Is.

Write any three merits of Bentham and Hooker’s classification of plants.

amaplevgev Crrer-engarandley FTeursdler WO eenTULLD WHMID
GUTILITL DL 6T(LD&)I5.

Draw the floral diagram and write the floral formula of Hibiscus rosa-sinensis.

QuUAGLTD erédeurm 2 (Heurdlmg ?

How periderm is formed ?

G&CrmGurGsrden el UL LD eUanThg LTSBIGET GN&EsaL.

Draw the structure of chromosome and label its parts.

https:-byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[BYJUS

The Learning App

29.

30.

31.

32.

33.

34.

35.

7 1332 (NP)

SSe IHDSSTHD 2 (Heuren GuTHLaer Gsayd epemdler QuwTgamar erpd
Sjeupmler Lwergener GOILIEHS.

Write any three genetically engineered products and mention their functions.

fFLTT b 666 eTemmTed 6Tere ?
What is Richmond Lang effect ?

g&leb wrrdlemey sreursslen WHSHIe) LILIGTSENET 6T(LS)Is.

Write the medicinal value of Aegle marmelos.

2 udlir Gsmgler i LeSlwedle er.Careneuier p&Sluggieud wrg ?
What is the importance of E.Coli in biotechnology ?

C, sraurmisafler gaflefenar wHMD @mer elenar saflgsaflurs BL&Sng.
@&aanm sflwmr, geupr ? 2 a1g edlenLenw HlurulLbhSSs.

“C, plants shows segregation of photosynthetic work.” State whether the statement is
true or false. Justify your statement.

L@&3| - IV /PART - IV
SemenEG NaTESERSGD ellenlwietl&sea,Lb. 5x5=25
Answer all the questions.
(=) Blwer urrgedlursredlen weafler LiswT HeneT sanedbarhserme alleufl.
JENTVNE ]
(<) CanrGuflwb eremmme erear ? igen (PSSSHeID Brerdlenat eI (Lpgis.
(a) Describe the flower of Musa Paradisiaca in technical terms.

OR
(b) What is Herbarium ? Write any four significance of herbarium.

(1) e eueneTwmIGeT LD GOILIL cuamTs.

360605
(=) GLHS®IWHS UTEVGEOTT SDEODH CTETDITED GTETE ? ST 6U6HES M 6T
UL g6 efleurl.
(a)  Write short notes on annual rings.
OR
(b) What are concentric vascular bundles ? Explain its types with neat labelled

diagram.
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36. (=) Wemaumd Garhseaner sreur SHla& euerriiy wpapCGur® cuflevsiL(Bss)

efleurfl.
i) ywsGCsrHmTEsD (i) euICLMIFED
(i) 2 L CFsgHigeo (iv) & 2 (HeUT&HSLD

360605
(=) GEB&Csmen, epLmeils 2ilenrs wrhmwenl Wb bHlspsslamw efleuf.

(auenyuLid aulfl)
(a) Rearrange the following terms based on techniques of plant tissue culture and

explain.
(i)  Morphogenesis (i) Hardening
(iii) Inoculation (iv) Embryogenesis

OR
(b) Describe the process in which glucose is converted into pyruvic acid with the
help of Flowchart.

37. (&) CuerGLmen umrevCuL aufIHLSdlem e HwSHeld wrenel ?
S|V
(<) &85 RNA -aflen Sjenwlients UL S e edlauifl.
(a)  Write the significance of pentose phosphate pathway.

OR
(b) Explain the structure of t-RNA with diagram.

38. (=) () HlossLameouier @maernh Cuwr wrg ? @& aThss GHDUSMSE

ETTHSG ?
(i) BeossLmoulear QurmerTsry W Hwsgeld gGCseand gbdlener
GT(LDGIS.
S|6060F)
(<) DNA bniCsrsens QgmHlmIL LD eTamnme eTanam ? AFH6n HlELpe|Hemner
eT(LDGIS.
(@) (i) What is the binomial of groundnut ? To which family groundnut belongs
to ?
(i) Bring out any five economic importance of groundnut.
OR

(b) Define DNA recombinant technology. Mention its events.

00o0-
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